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B. Sc. (First Year) EXAMINATION, 2019
MATHEMATICS
Paper — 11
VECTOR ANALYSIS AND GEOMETRY
Time : Three Hours

Maximum Marks : 40 (For Regular Students)
Minimum Pass Marks : 33%
Maximum Marks : 50 (For Private Students)

Minimum Pass Marks : 33% '
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Attempt all questions. Question no. 1
is compulsory.
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'The acceleration of a particle at time
tis ¢i+e® j+k. Then find the

velocity v, when v=i+ | where
t=0.
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x* +y2 +2x+2y+1=0
X% -i-y2 +4x+3y+2=90

Find the equation of common chord
of following circles :

x? +y2 +2x+2y+1=0
x* +y2 +4x+3y4+2=0
(i) iR
—=1-—ecos6

‘r
) FEm = T 7 S

P.T.O.

(4) V-141

Find the equation of directrix of a
conic —=1—ecosB
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Show that the equation of the cone
whose vertex is origin and which
passes through the curve of
intersection of the plane

Ix+my+nz=p and the surface
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Write the definitions of cylinder and
right circular cylinder.
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Find the equation of the tangent
plane . 10 the conicoid
© 5x? ~ 4% + 622 =25 at the point
1, -1, 2).
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Show that the plane
x+2y-2z=4 touch  the
paraboloid. 352 4 4 y* =24;.
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Prove that the vector
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Using Gauss divergence theorem to prove
that

Jy(axis by j + czk)-;rds-—--g-:r(a +b+¢)
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Where S is the surface of the sphere
x* + y2 +22 =1.
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Find the value of integral
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by use of Green's theorem where ¢ is the
triangle formed by lines

y=0,x=ﬂ:f2,y=g-x_
n

34x? + 24xy + 41y2 +48x+14y-108= 0
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Find the cquatmn of dlrecmr sphcre of

the conicoid ax + by + cz = 1__.

Find the condition when the plﬁne
Ix+my +nz =1 is a tangent plane to the

paraboloid 2 + y2 =72z.



